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Tuesday 12 May 2020 Morning Time allowed: 1 hour 30 minutes
Materials G
For this paper you must have: Foriaamners Lse
« a pencil and a ruler . Question | Mark
« a scientific calculator ]
« a Data and Formulae Booklet. ~
Instructions 3
« Use black ink or black ball-point pen. 4
« Fill in the boxes at the top of this page. =
« Answer all questions.

6

« You must answer the questions in the spaces provided. Do not write

outside the box around each page or on blank pages. TOTAL
« If you need extra space for your answer(s), use the lined pages at the end of

this book. Write the question number against your answer(s).

« Do all rough work in this book. Cross through any work you do not want
to be marked.

o Show all your working.

Information

« The marks for questions are shown in brackets.

e The maximum mark for this paper is 70.

« You are expected to use a scientific calculator where appropriate.
« A Data and Formulae Booklet is provided as a loose insert.
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Answer all questions in the spaces provided.

P+p—=>p+n + 1 + X

One strong interaction that occurs when two high-energy protons collide is

. |I| Determine the lepton number, strangeness and charge of particle X.
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[2 marks])
i‘P*M 0t 90 2040 0 + 0
S*'MSL Ot 0 20 +9 40 + 0 |
-3 |
Chesge e +le > e+ plend + e
lepton number = O i
strangeness = 0 |
charge = tle |
|Z] Identify particle X. :
[1 mark] |
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A possible decay of a negative pion is
n—e +Y

What is particle Y?
Tick (v') one box.

7 /

#

Ve

Question 1 continues on the next page
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| E Some subatomic particles are classified as hadrons. There are two classes of o

hadrons.

Discuss the nature of hadrons.
Your answer should include:

» the identifying properties of hadrons
o the structure of a hadron in each class
* a discussion of the stability of free hadrons.

[6 marks]
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n=> v+ e + Vo |
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K—= 1"+ 1° |
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A spacecraft entering the atmosphere of Mars must decelerate to land undamaged on

i the surface.
| Figure 1
| spacecraft
‘ direction
of travel

atmosphere of Mars

E Figure 1 shows the spacecraft of total mass 610 kg entering the atmosphere at a
speed of 5.5 kms™.

Calculate the kinetic energy of the spacecraft as it enters the atmosphere.

Give your answer to an appropriate number of significant figures. '

[3 marks]

Fo = L m?
ke 2

s ]

E, - .l_zw b0 x 55 % 10

- 9.23x (00

kinetic energy = 9.1 x IO‘,l J ‘
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, LT_] A parachute opens during the spacecraft's descent through the atmosphere.

I
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Figure 2 shows the parachute—spacecraft system, with the open parachute displacing
the atmospheric gas. This causes the system to decelerate.

Figure 2

displacement of gas
parachute

direction
of travel

spacecraft
displacement of gas

Explain, with reference to Newton's laws of motion, why displacing the atmospheric
gas causes a force on the system and why this force causes the system to
decelerate.

[4 marks] |

‘“& Mom € ntum 6\ Hﬂ( A.'S{),&C&?& aas
v d‘:rnfm 8\4 _f)egl-on iS J 7’ﬁ

lﬂd_)_ﬂjié_i‘iur:tu o JD.n{c\é) ; TL(MPMQ. '

J&Lﬁ@.)_@.y_h_m_ﬁ'ﬁ dDO{LQ (1] Uw
_P&m_(h-& ; Whthee & & repishi |
bor(c l\ﬂ. Sus}uﬂ —Hor—nsit
‘Eé:w M_MMJA_@_
(e Ck((orﬁm |
\‘n Nws bon's %ra \w. |

The oistise e A te 5’” m ‘

Mo poachie o : qm,J than te  ueh
j th Sfﬂ-({.(‘.(mgl' So e v o reaufort |
Ror@z be®  gystem  Becellygby

Question 2 continues on the next page
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f E As the parachute-spacecraft system decelerates, it falls through a vertical distance f bax
of 49 m and loses 2.2 x 10° J of kinetic energy.
During this time, 3.3 x 10° J of energy is transferred from the system to the
atmosphere. ,
The total mass of the system is 610 kg.
Calculate the acceleration due to gravity as it falls through this distance.
[3 marks]
5
EE st = 220077 |
b
33 ¥0°J % a\nn:sflu
L9
d 3
3-~%2 = Lly wd 'y
3 | )
| v b b 3&&-5.
i
| B,z mab L1 = (lox g 4
| f : L e’
| 3 2 W / bio* 49 |
| |
acceleration due to gravity = ms- |
| L3 ? i
'~ |
|
E Dust from the surface of Mars can enter the atmosphere. This increases the density |
| of the atmosphere significantly.
', Deduce how an increase in dust content will affect the deceleration of the system.
i [3 marks] |
| Moce Buor Means Lo W roce
| ?mh’c len {'_,g {,nur'AL L«;"Hq 4 f’la?.o.nﬁﬂj :
; 'N o0 ot N 13 EWL Do«g o HW.
| J . v _ |
| S45kms ac@leakon TLmFm the v
| ‘6—3ﬁf3’(’¥ (R Sulk sk U0.0( (£ aclL}B |
| ) te system ol there ‘lof.q |
| |
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| | 13
|
|
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D__] Figure 3 shows a golf ball at rest on a horizontal surface 1.3 m from a hole.

Figure 3

hole
ball

1.3m

not to scale

horizontal surface

|
I
|
|
|
I
I
I
I
|

A golfer hits the ball so that it moves horizontally with an initial velocity of 1.8 ms™.
The ball experiences a constant deceleration of 1.2 ms as it travels to the hole.

Calculate the velocity of the ball when it reaches the edge of the hole.

w} @J( [2 marks] |

)
‘
e he sw,a. N VI ow Vi Wt+las

Vis |.31¥ 7 x-LIX 13

vi= AR 0.
Ve ARIRY 0.3ubns”

velocity = WG 0.3% ms!

Question 3 continues on the next page
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'[0T3].[2] Later, the goif ball lands in a sandpit. The golfer hits the ball, giving it an initial

velocity u at 35° to the horizontal, as shown in Figure 4. The horizontal component
of uis 8.8 ms™.

Figure 4

sandpit wall

not to scale

Show that the vertical component of u is approximately 6 m gL

[1 mark]
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E] The ball is travelling horizontally as it reaches X, as shown in Figure 5.

Figure 5

path of ball

golf ball A

sandpit wall
not to scale
Assume that weight is the only force acting on the ball when it is in the air.

Calculate the time for the ball to travel to X.

[2 marks] |
= [
W, < C.ib ms X V- w _
o= -09\ ms st
C - : IL
gt 1 V-w ks ,,_%..‘.-
vvj O m;-\ o o '
time = 0- 63 s :
|
E Calculate the vertical distance of X above the initial position of the ball. |
[2 marks] |
fiow L ﬁQQA S : |
S= l.t{ + -l- &{' 1
oo Llbu 0634 o - 48X 0
2
vertical distance = \ . q m |
|
Question 3 continues on the next page |
Turn over b
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The golfer returns the ball to its original position in the sandpit. He wants the ball to box
land at X but this time with a smaller horizontal velocity than in Figure 5.
Figure 6
|
i
- lﬂ
| / ¢ - - |
/ N
‘ / Noox |
| / |
/
. golf ball / I
| \5' |
| .
sandpit wall |
not to scale
|_?_’ Sketch on Figure 6 a possible trajectory for the ball.
[1 mark]
[0]3].[6] Explain your reason for selecting this trajectory. |
[2 marks] |
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A sample of pure boron contains only isotope X and isotope Y.
A nucleus of X has more mass than a nucleus of Y.

m The sample is ionised, producing ions each with a charge of +1.6 x 107'° C. |
The specific charge of an ion of X is 8.7 x 105 C kg™'.

Calculate the mass of an ion of X.

[ mark]|
b
.g.. = 3.300 |
m ; |
| m= 8/%7F10 I
mass of ion = .9 x '0-26 kg |

]Z] Determine the number of nucleons in a nucleus of X. |

mass of a nucleon = 1.7 x 107 kg
_ [2 marks]
1.3 0nett 1 13t 0.6

| (M u.Pt"lﬁ

number of nucleons = 1 L

E Compare the nuclear compositions of X and Y.
' [2 marks]

| Ty both  hoe Mo came pumber
| d  Qiotens . Hoetver X ho Mo |
| nmirm.! Hroe Y Lﬁcm bhe. !
dwsw 6 lltl Sare LA X ’

L,s Mo/l M)y “'a 0N Y, i

Question 4 continues on the next page
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== ===S55 i il ‘mm N . N =~ o = < . 3y Imw::
E lons of Y have the same charge as ions of X. | box
State and explain how the specific charge of an ion of X compares with that of an
ion of Y.
| [2 marks]
Spe(. e dﬂﬂL on lon X v loss
' . W Y b X s
| thon o3 fAJ ; QR
| Mo R Mass o S?ec.} C Unge.
\%) el Ploport .'tml j(o mss.
| J
| E] Table 1 contains data about two completely ionised samples of pure boron. |
' Each sample contains only isotopes X and Y. |
| Table 1 :
| .
' Sample | Number of ions Mass of Charge on |
- number in sample sample / kg eachion/C |
| 1 3.50 x 106 6.31 x 1071 +1.60 x 107" |
| 2 3.50 x 10’ 6.20 x 107" +1.60 x 107" |
|
\ |
Deduce which sample, 1 or 2, contains a greater percentage of isotope Y. :
, ' [3 marks]
| SPq_c.' P e dwaq X |
‘ s 5 0 L) IS YA T |
| San-rlzl.' (3. 50 x0% ¥ LEex1o T b
. -1 9
| - 3.3 xi0¢ Chs 1) fZOxlC;I
| - -
3 < ;
| ame 21 ( 350%16" % LY
b ~(
. 4. 0x0 € L’j
|
|
|
| Somk 2 hay o labwe  spechi  Chugp
| | _ J LN
i o Hmmllnr e A (adany o 3 ~oky/ |
10
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outside th
: A cell has an emf of 1.5 V and an internal resistance of 0.65 2. box

The cell is connected to a resistor R.

|
- IIJ State what is meant by an emf of 1.5 V.
|

[2 marks]

it M2pny thot 5 J & Uork Y
bii s -AE g e
J 9

" Call,

| @ The current in the circuit is 0.31 A.

Show that the total power output of the cell is approximately 0.47 W.

[1 mark]
| = V1 |
| \ |

= 'y
l (3: 0.31 x 15< %\\&\\ 0. k65 W |
|
| E Calculate the energy dissipated per second in resistor R. |
‘ [2 marks] |
| PR W Y
! = O 98¢5

: T~ G2 3 O L5
ue&»ea—w@ e

Iz € L= _C_._r L= |5 _ 04695 < "l'm

—

| L+ r & 083l

| dissipated per second = a40 s
| P: 12 energy dissipated p n

| P= 0.3 ¥ 47 = 0-403W

Question 5 continues on the next page

Turn over b
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E The cell stores 14 kJ of energy when it is fully charged. The cell's emf and internal

i

16

resistance are constant as the cell is discharged.

Calculate the maximum time during which the fully-charged cell can deliver energy to |

resistor R.

P‘c

Al

E

E_{

P b
Itk - 3ovwi0ts
0.46%

maximum time =

Maths Made Easy

[2 marks] |

ps I'W < 0 A x WSk =0

30l 0% o
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E A student uses two cells, each of emf 1.5 V and internal resistance 0.65 €, to operate biow

e — e — (L

i

a lamp. The circuit is shown in Figure 7.

X

The lampis rated at 1.3 V, 0.80 W.
Deduce whether this circuit provides the lamp with 0.80 W of power at a potential

difference (pd) of 1.3 V.

Assume that the resistance of the lamp is constant.
[4 marks] ‘
|

iftned  Raiskne = 0.65

) ! ! - P & 9:_3 < O GISA ‘
Cutlad A laﬂr' Rgued ' I= - T
. ”

T

T /2
@siskance I |amPf fl=_!-z-: L

P

uwed in 2k el L 0OMNA
o Wb’ Ve Tk = 03120652 9.9y
| io«f bozs Jlorova'dt 13V ad 0.50u,
becos Lorninal 1:& = 0 - st Volts

-15.0972 =3V

Question 5 continues on the next page
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| - The lamp operates at normal brightness across a pd range of 1.3 Vto 1.5 V. | &=
State and explain how more of these cells can be added to the circuit to make the
lamp light at normal brightness for a longer time.
No further calculations are required.
[3 marks] |
NMoce calls Con L& adBed  in  pos n“QI/ |
L,um Hor v Mo % Store
; |
wo He Gl Lo 3 Vot o (055 |
Be b o SISV s b Bowalt
An (00 |
14

e
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| Coeace o
Figure 8 shows the apparatus a student uses to investigate stationary waves in a box
stretched string.
Two small pieces of adhesive tape are fixed to the string as markers P and Q. . i
Markers P and Q are 0.55 m apart and an equal distance from the ends of the string.
A graph paper grid is placed behind the string between P and Q.
Figure 8
grid
marker P marker Q /
vibration generator NGRS ERE FEGEE NGRS EA R stretched string
| | /
\I S Y S m
0.55m '
|
not to scale
|I| The string is made to vibrate at the second harmonic.
Compare the motion of P with that of Q.
[2 marks]
da *Q/M) 6 ID.D Sthun J Iﬂ ord Q Ove .
(om?lf Le{j Qw 6)? I()hasa. ﬂwi.j }
60 u'l.’ksh l‘bﬂ- Sa'm;.[m’ QMP'.IQQ.U_L
|
Question 6 continues on the next page
— S . . |
Turn over »
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i

Figure 9 shows the string between P and Q at an instant in time. The dashed
horizontal line indicates the position of the string at rest when the vibration generator

20

is switched off.

Figure 9

0.55m

The frequency of the vibration generator is 250 Hz.

Calculate the wave speed.

V=

3:

s

=

yx

150 W2

0.5 = 0. 1¥5m
2

150 X 0 L}5 = (335 r'\Sbl

wave speed =

9§ (9

Maths Made Easy

| Do not wn

_ \z] The frequency of the vibration generator is increased, and a higher harmonic of the |
stationary wave is formed.

[2 marks] |
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@ The instantaneous position of the string in Figure 9 can be explained by the ,
superposition of two waves. The instantaneous positions of these waves between
P and Q are shown in Figure 10.
Figure 10
i 8 T 3 5
; |
EENEs 4B S EBES RYREN |
RITE e S ERmma e
| “\\ : : ’ff. \\\ | q/f-'
\\ | I’ \\ '
. el P I T T 74 rus
Y | 2 | | \ /'
Ts il | \\\ 8 | -
NS RS RN R, L I i__ . _[___ i -
I T L e e ;
| | | | |
RSaSs SESEn aseraAeasl b e ’ LeirH e
SR s et R e i |
\'K\ | | 1’ \\ | | lﬂ
- \\ i f‘:' \l-\ | 7
! | B P ‘ | [ 78S | +r |
I\'h... j#' [ ey _p’.
| sy : Bamay .
iRl (il SRR AR
L l - | ] - .— _—— N

Describe the properties that the waves must have to form the shape shown in

Figure 9.
i [3 marks] \
|
T Waves Mok |9 e  same
qu_a Tlvj Mt L ﬂOVf% in 019 ]D 05 te
directipns ; b bee the Same J
| Daapence .
A Eay |
|
|
| .
| Question 6 continues on the next page
|
Turn over »
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' EI Figure 11 shows the positions of the two waves between P and Q a short time later.

T
iEEx ]
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- I
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| | }-1e ~ | Cd N |
| ] i N ’ ~
’ |l ! 7 ~
04 oA ’ |
— —r - L. - 1 1
~ | ! ~ 4
s i ! | > 1. |
by 7 | - ’ |
~ | 1 | 1-1 ~ , |
~ L4 ~ #]-4
b S g | | Sale” |
[ | | | ] |
| | | ! 3 |
. | Eg
| | | [
‘ I I |
i | | |
5 175 5 T S N D e G000 W i 12
Je. P | t L, e [ |
’ Tt 1 | ’ " 1 [
2i 1] [~ | / ~ ! [
’ | | ] ’ ~ |
7, s ] 7, N | |
P— — - . - v—b—-—A.\- e + 'L S ~ -
| |- | | | L& b | |
| M | L i | ’
| | 7 ~ | Ll
| | [ ~ | 21| [
| 4 | \‘ | 'l — ! h‘. 'f .
. 4 -E ' Pl e = P L | l, A H -
| | | |
| | i |
|
et W 8BS 1 I : 15 =
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Draw, on Figure 12, the appearance of the string between P and Q at this instant.

[1 mark] |
; . I
(AQS’rru.f biva 'ﬂ{'ilj)mﬁ (Q) Figure 12 '
| - T T i
‘ 5 ‘ | ! ' ' |
| 1 { 1 | | |
i PP HE T o H
HiH o ———am ]- ol b
2 | [N | s |
AR EA A T A A |
R e A R AEE 1 HIL BN ARG D il WL R B S S '
TR | |
‘i I -1 : | l | N NS . |
|
E Annotate (with an A) the positions of any antinodes on your drawing in Figure 12.
[2 marks]
|
|
IB/M/JUn20/7407/1

2 2



23

Maths Made Easy

Do not write
| outside the

@ The frequency of the vibration generator is reduced until the first harmonic is observed bax

in the string, as shown in Figure 13.

Figure 13

vibration generator

e ———— =

The string in Figure 13 is replaced with one that has 9 times the mass per unit length ‘
of the original string. All other conditions are kept constant, including the frequency of \
the vibration generator and the tension in the string. :

Deduce the harmonic observed.

iy | 7;1 &F

[3 marks]

i, AT
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END OF QUESTIONS
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